	AJ 18	381- AHM	Final Ur	niform Guru	Zeo	d Uniforms	Rahul				
Sr. No	Item	Specifications	UOM	Qty	Rate	Amount	Rate	Amount	Rate	Amount	Remarks
1	Male Team Member Shirt		Nos	14	395.00	5530.00	745.00	10430.00	394.00	5516.00	
2	Black Jeans		Nos	20	490.00	9800.00	795.00	15900.00	490.00	9800.00	
3	Female Team /L Shirts		Nos	6	395.00	2370.00	745.00	4470.00	394.00	2364.00	
4	Half Apron With Design		Nos	7	195.00	1365.00	345.00	2415.00	286.00	2002.00	
5	Full Apron With Design		Nos	3	225.00	675.00	375.00	1125.00	358.00	1074.00	
										0.00	
			Basic Amount			₹ 19,740.00		₹ 34,340.00		₹ 20,756.00	
			IGST / SGST / GST @ 5%			₹ 987.00		₹ 1,717.00		₹1,037.80	
		GRAND TO	TAL		₹ 20,727		₹ 36,057		₹ 21,794		

			F	orform	na Inv	voice	•						
	Uniforms				PI32	nate N	lo.			Date 14-03-2024			
4	A 209,Hind Saur Marol,(Near Mar East, Mumbal 40 Phone no.: 9699	ol Naka Met 00059			Place of Supply 24-Gujarat								
	Email: sales@un GSTIN: 27ALXPI State: 27-Mahar	com											
	imate For												
	nolina Kitchen Pvt L nedabad Internation			nal 2									
	nsol Ahmedabad 382 FIN Number: 24ABIC												
Sta	te: 24-Gujarat												
#	Item name		HSN/ SAC	Qua	ntity		Unit	Price/	unit	GST	Amount		
1	Male Team Membe	er Shirt	6205		14		Nos	₹ 375.00		₹ 262.50 (5.0%)	₹ 5,512.50		
2	Black jeans		52113240		20		Nos	₹ 490	0.00	₹ 490.00 (5.0%)	₹ 10,290.00		
3	Female Team Shir	6205		٥		Nos	₹375.0		₹ 112.50 (5.0%)	₹ 2,362.50			
4	Waist apron	42034010		7	7 Pcs		₹175.00		₹ 61.25 (5.0%)	₹ 1,286.25			
5	Kitchen apron	42034010		з	3 - ₹225		5.00	₹ 33.75 (5.0%)	₹ 708.75				
	Total				50					₹960.00	₹20,160.00		
	imate Amount In Wo				Amo	ounts							
Twe	enty Thousand One	Hundred an	d Sixty Rupe	es only	Sub Total ₹ 20,160								
					Tota		-				₹20,160.00		
	HSN/ SAC	Taxai	ble amount			IGS				Total Tax Amount			
400	34010		₹ 1,900		Rate	5.0%	An	nount ₹ 95.00			₹95.00		
	13240		₹ 9,800			5.0%		₹ 490.00			₹ 490.00		
020			₹ 7,500			5.0%		₹ 375.00		₹ 490.0			
	Total		₹ 19,200					₹ 960.00			₹ 960.00		
Ba	nk Details							For: Ur	lfor	ms Guru			
見渡期	Account N		Portunation										
	Account H												

ZED ENTERPRISE

PERFORMA INVOICE

New Bpp Complex, A-601, Wallbhat road, Goregaon East, Mumbai 400063 Mob: 9821894582 / Email: zeduniforms@gmail.com

GSTIN : 27AARPI1456P1Z1

Billing Address

Customer Name : Addess

SEMOLINA KITCHENS PVT LTD Terminal-3 (Cargo Terminal) SVPI Airport Ahmedabad Hansol, Ahmedabad, Gujarat- 382475

P Invoice No.: P Invoice Date: Banking Details: Bank / Branch: A/c No. Account Type IFSC Code:

14-03-2024 Axis Bank (Goregaon - East) 914020012051579 Current Account UTIB0000373

1474

GSTIN State Code:

GJ

Products supplied

2 Female Team Member Shirts 62179090 6 Pcs 745 4,470 - 4,470 0.00% - 0.00% - 5.00% 3 Team Member Trosuer 62179090 20 Pcs 795 15,900 - 15,900 0.00% - 0.00% - 5.00% 4 Half Apron for Male 62179090 7 Pcs 345 2,415 - 2,415 0.00% - 0.00% - 5.00% 5 Full Apron For Girl 62179090 3 Pcs 375 1,125 - 1,125 0.00% - 0.00% - 5.00% 5 Full Apron For Girl 62179090 3 Pcs 375 1,125 - 1,125 0.00% - 0.00% - 5.00% Totals - 34,340 - 34,340 - - - -	S No.	PRODUCT	HSN/SAC	QTY	UOM	RATE	TOTAL		GROSS	C	ist	SGST		IG	ST
2 Female Team Member Shirts 62179090 6 Pcs 745 4,470 - 4,470 0.00% - 5.00% 3 Team Member Trosuer 62179090 20 Pcs 795 15,900 - 15,900 0.00% - 0.00% - 5.00% 4 Half Apron for Male 62179090 7 Pcs 345 2,415 - 2,415 0.00% - 0.00% - 5.00% 5 Full Apron For Girl 62179090 7 Pcs 345 2,415 - 1,125 0.00% - 0.00% - 5.00% 5 Full Apron For Girl 62179090 3 Pcs 375 1,125 - 1,125 0.00% - 0.00% - 5.00% Totals 34,340 - 34,340 -								DISCOUN T		Rate	Amount	Rate	Amount	Rate	Amount
2 Female Team Member Shirts 62179090 6 Pcs 745 4,470 - 4,470 0.00% - 5.00% 3 Team Member Trosuer 62179090 20 Pcs 795 15,900 - 15,900 0.00% - 0.00% - 5.00% 4 Half Apron for Male 62179090 7 Pcs 345 2,415 - 2,415 0.00% - 0.00% - 5.00% 5 Full Apron For Girl 62179090 7 Pcs 345 2,415 - 1,125 0.00% - 0.00% - 5.00% 5 Full Apron For Girl 62179090 3 Pcs 375 1,125 - 1,125 0.00% - 0.00% - 5.00% Totals 34,340 - 34,340 -															
3 Team Member Trosuer 62179090 20 Pcs 775 15,900 - 15,900 0.00% - 0.00% - 5.00% 4 Half Apron for Male 62179090 7 Pcs 345 2,415 - 2,415 0.00% - 0.00% - 5.00% 5 Full Apron For Girl 62179090 3 Pcs 375 1,125 - 1,125 0.00% - 0.00% - 5.00% 5 Full Apron For Girl 62179090 3 Pcs 375 1,125 - 1,125 0.00% - 0.00% - 5.00% Totals 34,340 - 34,340 - - - - Invoice Terms: 1 All fabrics and stitching are guaranteed for manufacturing damages only. - 34,340 - 34,340 - - - Tax Invoice Value - - - - - - - - - - - - - - - -	1	Male Team Member Shirts	62179090	14	Pcs	745	10,430	-	10,430	0.00%	-	0.00%	-	5.00%	522
4 Half Apron for Male 6217909 7 Pcs 345 2,415 - 2,415 0.00% - 0.00% - 5.00% 5 Full Apron For Girl 62179090 3 Pcs 345 2,415 - 2,415 0.00% - 0.00% - 5.00% 5 Full Apron For Girl 62179090 3 Pcs 345 2,415 - 1,125 0.00% - 0.00% - 5.00% 5 Full Apron For Girl 62179090 3 Pcs 345 2,415 - 1,125 0.00% - 0.00% - 5.00% 6 All dasign fabrics and stitching are guaranteed for manufactured depending on the minimum - 3 34,340 - 34,340 - <	2	Female Team Member Shirts	62179090	6	Pcs	745	4,470	-	4,470	0.00%	-	0.00%	-	5.00%	224
S Full Apron For Girl 62179090 3 Pcs 375 1,125 - 1,125 0.00% - 5.00% Totals 34,340 - 34,340 - 34,340 - 0.00% - 5.00% Invoice Terms: 1 All fabrics and stitching are guaranteed for manufacturing damages only. -	3	Team Member Trosuer	62179090	20	Pcs	795	15,900	-	15,900	0.00%	-	0.00%	-	5.00%	795
Totals 34,340 - 34,340 - - Invoice Terms: 1 All fabrics and stitching are guaranteed for manufacturing damages only. Gross Value Tax Iax Iax <td>4</td> <td>Half Apron for Male</td> <td>62179090</td> <td>7</td> <td>Pcs</td> <td>345</td> <td>2,415</td> <td>-</td> <td>2,415</td> <td>0.00%</td> <td>-</td> <td>0.00%</td> <td>-</td> <td>5.00%</td> <td>121</td>	4	Half Apron for Male	62179090	7	Pcs	345	2,415	-	2,415	0.00%	-	0.00%	-	5.00%	121
Invoice Terms: 1 All fabrics and stitching are guaranteed for manufacturing damages only. Invoice Terms: Invoice Tax Invoice Tax 2 Damages due to extensive/rigorous washing, bleaching, abrasions & pilling do not come under this purview. Invoice Value Invoice Value 3 If the Client so desires, Fabric swatches may be provided for Laundry testing and approval. All design fabrics are subject to availability and can be manufactured depending on the minimum For Zed Enterprises 4 All design fabrics, are subject by the mills for manufacture. For Zed Enterprises 6 All Jackets, Suits, Linen/Woolen/Wool blended Garments & Ties to be DRY CLEANED ONLY. For Zed Enterprises	5	Full Apron For Girl	62179090	3	Pcs	375	1,125	-	1,125	0.00%	-	0.00%	-	5.00%	56
1 All fabrics and stitching are guaranteed for manufacturing damages only. Tax 2 Damages due to extensive/rigorous washing, bleaching, abrasions & pilling do not come under this purview. Invoice Value 3 If the Client tos desires, Fabric swatches may be provided for Laundry testing and approval. Invoice Value 4 All design fabrics are subject to availability and can be manufactured depending on the minimum For Zed Enterprises 6 All Jackets, Suits, Linen/Woolen/Wool blended Garments & Ties to be DRY CLEANED ONLY. Invoice Value		Totals 34,340 - 34,340								1,717					
1 All fabrics and stitching are guaranteed for manufacturing damages only. Tax 2 Damages due to extensive/rigorous washing, bleaching, abrasions & pilling do not come under this purview. Invoice Value 3 If the Client to desires, Fabric swatches may be provided for Laundry testing and approval. 4 All design fabrics are subject to availability and can be manufactured depending on the minimum 5 quantity required by the mills for manufacture. 6 All Jackets, Suits, Linen/Woolen/Wool blended Garments & Ties to be DRY CLEANED ONLY.															
2 Damages due to extensive/rigorous washing, bleaching, abrasions & pilling do not come under this purview. Invoice Value 3 If the Client so desires, Fabric swatches may be provided for Laundry testing and approval. 4 All design fabrics are subject to availability and can be manufactured depending on the minimum 5 quantity required by the mills for manufacture 6 All Jackets, Suits, Linen/Woolen/Wool blended Garments & Ties to be DRY CLEANED ONLY.	Invoice	e Terms:										Gross Val	ue		34,340
 If the Client so desires, Fabric swatches may be provided for Laundry testing and approval. All design fabrics are subject to availability and can be manufactured depending on the minimum quantity required by the mills for manufacture All Jackets, Suits, Linen/Woolen/Wool blended Garments & Ties to be DRY CLEANED ONLY. 	1	All fabrics and stitching are guaranteed for ma	nufacturing dama	ges only.								Tax		1,717	
 All design fabrics are subject to availability and can be manufactured depending on the minimum quantity required by the mills for manufacture. All Jackets, Suits, Linen/Woolen/Wool blended Garments & Ties to be DRY CLEANED ONLY. 	2	Damages due to extensive/rigorous washing, b	leaching, abrasior	ns & pilling d	lo not com	e under th	nis purview.					Invoice Va	alue		36,057
 quantity required by the mills for manufacture. All Jackets, Suits, Linen/Woolen/Wool blended Garments & Ties to be DRY CLEANED ONLY. 	3	If the Client so desires, Fabric swatches may b	e provided for Lau	ndry testing	and appro	oval.									
6 All Jackets, Suits, Linen/Woolen/Wool blended Garments & Ties to be DRY CLEANED ONLY.	4	All design fabrics are subject to availability and	can be manufact	ured depend	ding on the	minimum	ı					For Zed E	nterprises		
All backed, build, Ellel Woolch Wool biched balments a hes to be birt belanced one i.	5	quantity required by the mills for manufacture													
⁷ Chlorine BLEACH Not to be used anywhere, Oxybleach could be used for Kitchen Chef Jackets & White Shirts only. Proprietor	6	All Jackets, Suits, Linen/Woolen/Wool blended	d Garments & Ties	to be DRY	CLEANED	ONLY.									
	7	Chlorine BLEACH Not to be used anywhere, C	xybleach could be	used for Ki	tchen Che	f Jackets	& White Shir	ts only.				Proprieto	r		

er

RAHUL MENS WEAR

Contact :9820477315

R.C. Barrack No.25, Shop No.03 Bhaji Market,

Chembur Colony Mumbai 400074 Id : pawanpandey681@gmail.com

Original for Receipient

GSTIN:27AIFPP5649F1ZZ

				PERI	OMA	INVO	DICE							
PERFOMA NO : 2023-24/331								Transport Mode: NA						
PERFOMA DATE : 14-3-24								Vehicle number: NA						
P0 . NO									A.					
State:			Date of Supply:											
		Code		Place of Su	pply : MB	r								
	Bill to Part			Ship to Party										
SEMIL	ONA KITCHEN PVT LTD (T-3 CARGO TE			SEMILONA KITCHEN PVT LTD (T-3 CARGO TERMINAL)										
ADDRE	SS:- SVPI AIRPORT AHMEDABAD HANSO	DL,AHM	IEDAB/	AD GUJ	ARAT-38	82475	ADDRESS:- SVPI AIRPORT AHMEDABAD HANSOL,AHMEDABAD GUJARAT-382475							
GSTIN	1						GSTIN :							
state :					Code		state :					Code		
Sr. No.	Froduct Description	HSN code	Qty	Kate	Amount	Discount	Taxable Value		ठा	SGST		Total		
1	SHIRT (MALE) WHITE (P/B) WITH LOGO		14	394	5,516		5,516	2.5	138	2.5	138	5,792		
	SIZE : 36/4,38/4,40/4,42/2													
2	SHIRT (FEMALE) WHITE (P/B) WITH LOGO		6	394	2,364		2,364	2.5	59	2.5	59	2,482		
	SIZE : 36/4,38/2				-									
3	TROUSER (BLACK) STRECHABLE		20	490	9,800		9,800	2.5	245	2.5	245	10,290		
	SIZE : 28/4,30/4,32/8,34/4				-									
4	APRON (HALF) MALE (SUPER MATTY) WITH LOGO		7	286	2,002		2,002	2.5	50	2.5	50	2,102		
5	APRON (FULL) FEMALE (SUPER MATTY) WITH LOGO		3	358	1,074		1,074	2.5	27	2.5	27	1,128		
	TOTAL		50		20,756		20,756		519		519	21,794		
									ount befor	e Tax		20,756		
								Add: CGST 519 Add: SGST 519						
				Total Tax Amount 1,038										
	TWENTY ONE THOUSAND SEVE	R ONL	Y		ount after	Tax:		21,794						
	RAHUL MENS WEAR													
<u> </u>	yan Sahakari Bank Ltd. (CURRENT AC)							GST on I	Reverse Ch	arge				
	C: 011011300002435							<u> </u>	Cari			re are irse and served		
	SC: JSBL0000011									For RAH	UL MEN	SWEAR		
	k conditions iCE 100% PAYMENT								R.	1.21	Rum	day		
								-	pin			~		
						Common S	cal			Auth	orised sign	atory		